m it X R R (-12m ) EHEFAFEFH

P B O F OB R OB

L& 2 ZE -ZEBERBRMBEHH

i) # 3 F 6 A




wiTs BB T SRR am R S T

% # e - Bk B B B B & & W E
EZR{E 4,891,700 + 222,413 5,114,113
EEAGE 4,891,700
EERE 222,413
Z Ot R 4,891,700 x 53.85% ( 35% <+ (1 — 35%) ) 2,634,180
EHRIE 5,114,113 + 2,634,180 7,748, 293
—REERS 7,748,293 x 53.85% (36% + (1 — 35%) ) — 748 4.11.701
EHMmE 7,748,293 + 4,171,707 11,920, 000
HEGEHELE 11,920,000 x 10.00% 1,192,000
EBTEH 11,920,000 + 1,192, 000 13,112,000




BEARRE [R5 X 2 B (- 1 2m) S SR ST S 2 75

% R B& - MAKSTE Bifi % 8 B ff ' # wm =
BRI 5,114,113
EHE - X - AEEEB 5,114,113
BEHEEREES 5,114,113
ES B 3,983, 300
REtEtE 108, 600
1 EREHETE 1.00 108, 600 108, 600
=
& - |E 198, 600
2 % - BE 3.00 66, 200 198, 600
]
BIAERE (REH) 1,488, 900
3 EIEtE DR 1.00 1,064, 100 1,064, 100
=
4 TIEFE - ERAEIEORE 1.00 424, 800 424, 800
=
HEER (LE#) 601, 900
5 HmEERL (RE) 1.00 529, 400 529, 400
247
6 HmEER (ki) 1.00 72,500 72,500
247
HEHE (LEH) 564, 200
T BEHE (BB 1.00 195, 100 195, 100
247
8 EFHHE (ki) 1.00 369, 100 369, 100
247




BEARRE [R5 X 2 B (- 1 2m) S SR ST S 2 75

% # 3R - BotkTiA Bifi H B O & # # =

RIEER (RERES) 72,500

9 HEfER 1.00 72,500 72,500
847

HEHE (REREE) 369, 100

10 WEFHH 1.00 369, 100 369, 100
847

REER (BEETH) 384, 400

11 EELER 1.00 384, 400 384, 400
547

HETHE REBTH) 195, 100

12 HEHE 1.00 195, 100 195, 100
5847

ERRE BEBTH) 377,200

BEETORE 377,200

13 MEBREE 1.00 111,100 111,100
r—2

4 MATRAE 1.00 116, 900 116,900
r—2

15 BAMGLE - &E 1.00 149, 200 149, 200
r—2

BRIFRONH 439, 400

BAIFROHE 439, 400

16 BETEROHRE 2.00 219,700 439, 400

HE (7—3R)




BEARRE [R5 X 2 B (- 1 2m) S SR ST S 2 75

% R B - BAIKSTiE Bifi % =2 B ff & i) wm =

EhERF 91, 800
BE 91, 800
17 BE 1.00 91, 800 91, 800

=
EEEE 222,413
EHARE 46,013
18 EBAME 1.00 46,013 46,013

=
S 140, 000
19 ¥BHER 1.00 140, 000 140, 000

=
EIEREHE 36, 400
20 ETRERE 1.00 36, 400 36, 400

=




REAR-ET/Avr—

[REAFRMR R -12mERRETEER

=1
B EREHETE 1KY
£ 7 R - BAKTiE I=“Riva = B O(f L] i " &
F{EHED (%5
A 1.00 57, 400. 00 57, 400
HER (A)
A 1.00 51, 200. 00 51,200
= it YE¥#EH - 1.00K 108, 600. 00 108, 600
5:2
2% %E - |mE HEEP)
£ 5 R - KT B = B O(f % i3 s &
AR (A)
A 0.50 51, 200. 00 25,600
HEAR (B)
A 1.00 40, 600. 00 40, 600
& H YE%HEH - 1.00[E 66, 200. 00 66, 200
F5:3
& EIEtEO®RE 1%
2] 5 R - KT B = B O(f 58 i3 i &
F 1A GEED
A 4.00 57, 400. 00 229, 600
XA (A)
A 6. 00 51, 200. 00 307, 200
XA (B)
A 5.50 40, 600. 00 223, 300
e (C)
A 7.50 32, 800. 00 246, 000
Hittg
A 2.00 29, 000. 00 58, 000
& & 1EZREA - 1.00 1,064, 100. 00 1,064, 100
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[REAFRMR R -12mERRETEER

EE .4
£ . TIEEE - EXRFIEIEDRET 1=
% 5 R - AR IR Bifs = B & i3 B =
FEHED (GRED
A 2.00 57, 400. 00 114, 800
HED (A)
A 3.00 51, 200. 00 153, 600
A (C)
A 3.00 32, 800. 00 98, 400
Hifrg
A 2.00 29, 000. 00 58, 000
A i E¥82H : 1.00=% 424, 800. 00 424, 800
‘S :5
& IEER (BE) 194 741
% b3 R - BRTE Bifs £ B & # i3 s &
HEn (B)
A 1.50 40, 600. 00 60, 900
B (C)
A 5.00 32, 800. 00 164, 000
Hifrg
A 10. 50 29, 000. 00 304, 500
& i YE%82Hh :1.008 47 529, 400. 00 529, 400
HS:6
2 MmEER Ok 194 741
% 5 R - AR IR BAfL = B & # i3 i &
Bitrg
A 2.50 29, 000. 00 72, 500
& i E%HEH : 1.0052 4T 72, 500. 00 72, 500
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[REAFRMR R -12mERRETEER

E&S:7
& BEHE (FE) 194 T4
% 5 R - AR IR Bifs = B & = & &
HEn (B)
A 1.00 40, 600. 00 40, 600
A (C)
A 2.50 32, 800. 00 82, 000
Hifrg
A 2.50 29, 000. 00 72, 500
A i E2Eh - 1.008 47 195, 100. 00 195, 100
&S :8
2 BEHE OKkE) 194 741
% b3 R - BRTE Bifs £ B & # = s &
HEn (B)
A 1.00 40, 600. 00 40, 600
B (C)
A 2.50 32, 800. 00 82, 000
Hifrg
A 8.50 29, 000. 00 246, 500
& i YE%82Hh :1.008 47 369, 100. 00 369, 100
F5:9
2 - FmEER 194 741
% 5 R - AR R BAfL = B & # = i &
Hifrg
A 2.50 29, 000. 00 72, 500
& i E%HEH : 1.0052 4T 72, 500. 00 72, 500
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[REAFRMR R -12mERRETEER

£:10
& BEFHE 194 T4
% 5 R - AR IR Bifs = B & i3 B =
HEn (B)
A 1.00 40, 600. 00 40, 600
A (C)
A 2.50 32, 800. 00 82, 000
Hifrg
A 8.50 29, 000. 00 246, 500
A i E2Eh - 1.008 47 369, 100. 00 369, 100
BS 11
2 RIEER 194 741
% b3 R - BRTE Bifs £ B & # i3 s &
HEn (B)
A 1.50 40, 600. 00 60, 900
B (C)
A 5.00 32, 800. 00 164, 000
Hifrg
A 5.50 29, 000. 00 159, 500
& i YE%82Hh :1.008 47 384, 400. 00 384, 400
212
2 BMEHE 194 741
% 5 R - AR R BAfL = B & # i3 i &
HEn (B)
A 1.00 40, 600. 00 40, 600
AR (C)
A 2.50 32, 800. 00 82, 000
Hftta
A 2.50 29, 000. 00 72, 500
& i E%HEH :1.0052 4T 195, 100. 00 195, 100
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RiEFR-FET/\vr—2 TR BT R R BB (- 12m RIER A S £ 7
213
&% BEBEET 15—2RHY
£ i R - TRtk Bff 2 B 3 1 i &=
HEn (B)
A 0.50 40, 600. 00 20, 300
A (C)
A 1.00 32, 800. 00 32, 800
Rt
A 2.00 29, 000. 00 58, 000
A& F EZEEH - 1,007 —R 111, 100. 00 111, 100
BS54
&% BEIBET 15—2HY
4 5 R - KT =R v £ B O(f %5 i3 s &
HEn (B)
A 1.00 40, 600. 00 40, 600
B (C)
A 1.00 32, 800. 00 32, 800
BT
A 1.50 29, 000. 00 43,500
& PEZREN - 1.00r—R 116, 900. 00 116, 900
&BHS .15
B REMLLE - R 157—24Y
2] 5 R - KT By £ B ) i3 i &
FEHEM (GRED
A 1.00 57, 400. 00 57, 400
BER (A)
A 1..00 51, 200. 00 51, 200
BEF (B)
A 1..00 40, 600. 00 40, 600
& &t PEZEEHN - 1.00r—R 149, 200. 00 149, 200
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[REAFRMR R -12mERRETEER

216
& MEIEEOHETE 1EE (5—R) #HY
% 5 R - AR IR Bifs = B & i3 B =
HED (A)
A 1.50 51, 200. 00 76, 800
HEn (B)
A 1.50 40, 600. 00 60, 900
A (C)
A 2.50 32, 800. 00 82, 000
& it E%24:h : 1.00IEE (5—R) 219, 700. 00 219, 700
5 :17
L BE IEED)
% b3 R - BRTE Bifs £ B & # i3 s &
HED (A)
A 1.00 51, 200. 00 51, 200
HEn (B)
A 1.00 40, 600. 00 40, 600
A E2E:H ;- 1.00= 91, 800. 00 91, 800
218
&% EHEARE IEED)
% 5 R - AR IR BAfL = B & # i3 i &
EHARE
= 1.00 46, 013. 00 46,013
& i E%4EH : 1.00=X 46,013.00 46,013
BE 19
& EHERER IEED)
% 5 R - BIRTE BAfT = B ® # i3 i &
EBRRRE
= 1.00 140, 000. 00 140, 000
& &t E%4EH : 1.00=K 140, 000. 00 140, 000
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&H5:2
A FETEEERR

[REAFRMR R -12mERRETEER

1=
4 R - MRk BfL 2 i ' # W= & &
fETRERE
= 1.00 36, 400. 00 36, 400
& i EERES - 1.00L 36, 400. 00 36, 400




